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A_=AcosO

Ay = A4 sind

.
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| , —A=16i+/
A, =A4sinf=(2)sin30=(2)(0.5)=1

{Ax =A4 cosf=(2)cos30=(2)(0.8)=1.6 .
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=A=-21-21j

A . =Acosf@=(3)cos45=(3)(0.7)=2.1 ..
A, =Asmb=(3)sin45=(3)(0.7) =2.1
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R=A4+B
R=(1.4-05)i +(-1.4+0.8);j

—

R=09i-06/

— A4 =14i —14;

A =Acos@=(2)cos45=(2)(0.7)=14 .
A, =A4Asmf=(2)sin45=(2)(0.7)=1.4

— B =-05i +0.8/

B.=Bcosf#=()cos60=(1)(0.5)=0.5 _
B, =B sinf =(1)sin60=(1)(0.8) =0.8
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{ +B
R =0.8i +(0.5-3);
R=08-2.5]

(A=A cosf=(1)cos30=(1)(0.8)=0.8
|4, =4sin6=(1)sin30=(1)(0.5) = 0.5

—

-4 =08 +0.5/

(B_ =B cosf=(3)cos90=(3)(0)=0
|B, =B sin@=(3)sin90=(3)(1)=3
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A=Ai+A4,j+A,k

B=B.i+B j+B,k

"

AB=A,B,+A4 B, +A.B.
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AB =(- )(2)+(2)(0)+(5)(1) 3
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A=Ai+A4,j+A4,k

B=B.i+B j+B,k

.




-Ax AZ
Bx BZ

A, A,
B, B,

:l(AyBZ _AZBy)_.j(AxBZ _AZBx)
+k(.B,~A4,B)
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A=3i+2j

B =2i —4j +k




~13 0 ~|13 2
— ] +k
2 1 2 -4

(2 - 0)4)] -7 [ —(0)2)]
[3)(—4)—(2)(2)]=2i -37 —16k
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A=-5i +2j -2k

B :3z'A—f+/€




